

TO VALIDATE, GO TO Certificate Number: **GI-COO-54329-673de1d7b6499**

VERIFY.FTGS.US Date: November 20, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine CA USA	Destination Country China	Destination Port TianjinXingang
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Export Date 2024-11-09	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410587103
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1544bales Total: 672.390mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.38mt	United States
Marks: EISU8379924 52bales		
Alfalfa Hay	22.625mt	United States
Marks: TGBU6509222 51bales		
Alfalfa Hay	22.426mt	United States
Marks: EGHU8393988 50bales		
Alfalfa Hay	23.052mt	United States
Marks: EGSU9720693 52bales		
Alfalfa Hay	22.281mt	United States
Marks: EGHU9658227 51bales		
Alfalfa Hay	22.843mt	United States
Marks: EITU9421642 52bales		ZXXXXX
Alfalfa Hay	22.743mt	United States
Marks: GAOU7289262 51bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: **GI-COO-54329-673de1d7b6499**

VERIFY.FTGS.US Date: November 20, 2024

Transport Type Port of Loading Seller (Exporter) Vessel LOS ANGELES Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China **TianjinXingang** CA USA **Export Date Exporting Carrier** N/A 2024-11-09 Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD Import Permit Number Bill of Lading / AWB HUTONGTU VILLAGE, SHENGLETOWN 401410587103 HELINGEER COUNTY INNER MONGOLIA, 011500 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1544bales Total: 672.390mt



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
lfalfa Hay	22.571mt	United States	
larks: EGSU9649770 52bales			
Ifalfa Hay	22.535mt	United States	
larks: EMCU8477609 51bales			
Ifalfa Hay	22.453mt	United States	
flarks: EGHU8352715 52bales			
lfalfa Hay	22.879mt	United States	
1arks: TGBU9978861 52bales			
lfalfa Hay	22.272mt	United States	
1arks: TGBU7027890 52bales			
lfalfa Hay	22.262mt	United States	
1arks: EITU9334851 51bales		DAY XXX	
lfalfa Hay	22.716mt	United States	
larks: EGSU9662452 52bales			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: **GI-COO-54329-673de1d7b6499**

VERIFY.FTGS.US Date: November 20, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine CA USA	Destination Country China	Destination Port TianjinXingang
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Export Date 2024-11-09	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410587103
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1544bales Total: 672.390mt



escription May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
falfa Hay	22.235mt	United States	
arks: EGSU9298989 51bales			
falfa Hay	22.008mt	United States	
arks: EGSU1250438 52bales			
falfa Hay	22.68mt	United States	
arks: TLLU5925355 52bales			
falfa Hay	22.344mt	United States	
arks: EMCU1567212 50bales			
falfa Hay	21.954mt	United States	
arks: TCNU3741825 52bales			
falfa Hay	22.607mt	United States	
arks: FFAU1182772 50bales		DAYA MARKANINA	
falfa Hay	22.408mt	United States	
arks: TRHU7757504 52bales			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: **GI-COO-54329-673de1d7b6499**

VERIFY.FTGS.US Date: November 20, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine CA USA	Destination Country China	Destination Port TianjinXingang
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Export Date 2024-11-09	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410587103
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1544bales Total: 672.390mt



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Ifalfa Hay	22.607mt	United States
Marks: TCNU2433284 52bales		
Ifalfa Hay	21.11mt	United States
flarks: GAOU7294340 52bales		
Ifalfa Hay	22.244mt	United States
flarks: TLLU7691050 52bales		
Ifalfa Hay	22.435mt	United States
Marks: EMCU8456400 52bales		
Ifalfa Hay	21.464mt	United States
flarks: GAOU6679585 52bales		
Ifalfa Hay	22.516mt	United States
Marks: TRHU6758050 52bales		
lfalfa Hay	22.571mt	United States
farks: CIPU5162803 50bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

TO VALIDATE, GO TO Certificate Number: **GI-COO-54329-673de1d7b6499**

VERIFY.FTGS.US Date: November 20, 2024

Transport Type Port of Loading Seller (Exporter) Vessel LOS ANGELES Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China **TianjinXingang** CA USA **Export Date Exporting Carrier** N/A 2024-11-09 Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD Import Permit Number Bill of Lading / AWB HUTONGTU VILLAGE, SHENGLETOWN 401410587103 HELINGEER COUNTY INNER MONGOLIA, 011500 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1544bales Total: 672.390mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.507mt	United States
Marks: EMCU1552892 52bales		
Alfalfa Hay	22.662mt	United States
Marks: EITU1330227 50bales		
end of products	=====	
	N NAKA TAKTAKTA	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein

GI-C00-54329-673de1d7b6499/November 20, 2024

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCIAL INVOICE

Invoice No.

BH-202410003

Date:

10/17/24

Shipper/Exporter:

Vessel:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA BEST HOLSTEINS CO.,LTD

HUTONGTU VILLAGE, SHENGLE TOWN, HELINGEER COUNTY, INNER MONGOLIA

EVER MEMO Contract No.: BH-HGLC2024-6

Voyage No.: 0008-001W **Booking No.:** 401410587103

Shipping Line: Evergreen Country of Origin: USA

Port of Loading: LOS ANGELES, CA Discharge: TianjinXingang, China

ETD: 11/9/24 **ETA:** 12/14/24

Price Terms: CIF

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
CIPU5162803	A1621712	Alfalfa Supremi	50	22.571	\$390.00	\$8,802.69
EGHU8352715	A1621554	Alfalfa Supremi	52	22.453	\$390.00	\$8,756.67
EGHU8393988	A1621608	Alfalfa Supremi	50	22.426	\$390.00	\$8,746.14
EGHU9658227	A1621606	Alfalfa Supremi	51	22.281	\$390.00	\$8,689.59
EGSU1250438	A1621506	Alfalfa Supremi	52	22.008	\$390.00	\$8,583.12
EGSU9298989	A1621508	Alfalfa Supremi	51	22.235	\$390.00	\$8,671.65
EGSU9649770	A1621556	Alfalfa Supremi	52	22.571	\$390.00	\$8,802.69
EGSU9662452	A1621510	Alfalfa Supremi	52	22.716	\$390.00	\$8,859.24
EGSU9720693	A1621607	Alfalfa Supremi	52	23.052	\$390.00	\$8,990.28
EISU8379924	A1620904	Alfalfa Supremi	52	22.380	\$390.00	\$8,728.20
EITU1330227	A1621668	Alfalfa Supremi	50	22.662	\$390.00	\$8,838.18
EITU9334851	A1621551	Alfalfa Supremi	51	22.262	\$390.00	\$8,682.18
EITU9421642	A1621602	Alfalfa Supremi	52	22.843	\$390.00	\$8,908.77
EMCU1552892	A1621669	Alfalfa Supremi	52	22.507	\$390.00	\$8,777.73
EMCU1567212	A1621570	Alfalfa Supremi	50	22.344	\$390.00	\$8,714.16
EMCU8456400	A1621562	Alfalfa Supremi	52	22.435	\$390.00	\$8,749.65
EMCU8477609	A1621555	Alfalfa Supremi	51	22.535	\$390.00	\$8,788.65
FFAU1182772	A1621568	Alfalfa Supremi	50	22.607	\$390.00	\$8,816.73
GAOU6679585	A1621561	Alfalfa Supremi	52	21.464	\$390.00	\$8,370.96
GAOU7289262	A1621557	Alfalfa Supremi	51	22.743	\$390.00	\$8,869.77
GAOU7294340	A1621564	Alfalfa Supremi	52	21.110	\$390.00	\$8,232.90
TCNU2433284	A1621565	Alfalfa Supremi	52	22.607	\$390.00	\$8,816.73
TCNU3741825	A1621569	Alfalfa Supremi	52	21.954	\$390.00	\$8,562.06
TGBU6509222	A1621610	Alfalfa Supremi	51	22.625	\$390.00	\$8,823.75
TGBU7027890	A1621552	Alfalfa Supremi	52	22.272	\$390.00	\$8,686.08
TGBU9978861	A1621553	Alfalfa Supremi	52	22.879	\$390.00	\$8,922.81

Total Value:			1,544	672.390		\$262,232.10
TRHU7757504	A1621566	Alfalfa Supremi	52	22.408	\$390.00	\$8,739.12
TRHU6758050	A1621713	Alfalfa Supremi	52	22.516	\$390.00	\$8,781.24
TLLU7691050	A1621563	Alfalfa Supremi	52	22.244	\$390.00	\$8,675.16
TLLU5925355	A1621501	Alfalfa Supremi	52	22.680	\$390.00	\$8,845.20

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE



